
OBJECTIVE PART(MCQs)
Question No.1 : Fifty-five thousand six hundred fifty-eight in
numerals is:
(a) 55658 (b) 5658 (c) 555658 (d) 55685

Question No.2 : Ali has Rs 1000. He buys a toy for Rs 399. The
remaing amount is:
(a) Rs 401 (b) Rs 501 (c) Rs 601 (d) Rs 701

Question No.3 : The solution of  is:
(a) 3848 (b) 4883 (c) 8384 (d) 8834

Question No.4 : The solution of   is:
(a) 10 (b) 11 (c) 12 (d) 13

Question No.5 : In the sequence  the next term is:

(a) 60 (b) 63 (c) 70 (d) 73

Question No.6 : The number divisible by 2 is:

(a) 21 (b) 25 (c) 49 (d) 62

Question No.7 : The factors of 18 are:

(a) 1,2,3,6,9,18 (b) 1,2,4,6,9,18 (c) 1,2,3,6,9,12 (d) 1,2,4,6,9,12

Question No.8 : The prime factorization of 32 is:

(a) (b) (c) 
(d) 2 2 2 2
2

Question No.9 : Like fractions are:

(a) (b) (c) (d) 

Question No.10 : The proper fraction is:

(a) (b) (c) (d) 

Question No.11 : Ali spent ​ of an hour reading and ​ of an hour
doing homework. The total time he spent:

(a) (b) (c) (d) 

Question No.12 : The solution of   is:

(a) (b) (c) (d) 

Question No.13 : The place value of 3 in 14.314 is
(a) 0.3 (b) 0.03 (c) 0.003 (d) 3

Question No.14 :  0.12 in fraction is:
(a) (b) (c) (d) 

Question No.15 : The solution of   is:

(a) 4.86 (b) 3.86 (c) 3.68 (d) 3.78

Question No.16 : The standard unit to measure the height of Minar-
e-Pakistan is:
(a) Millimetre (b) Centimetre (c) Metre (d) Kilometre

Question No.17 : A man has 38.8 kg apples and 32.1 kg mangoes.
The total mass of fruits is:
(a) 60.7kg (b) 60.9 kg (c) 70.7 kg (d) 70.9 kg

Question No.18 : The standard unit to measure the capacity of
bucket is:
(a) Millilitre (b) Kilogram (c) Gram (d) Litre

Question No.19 : Umer takes 4 hours 34 minutes to complete a
picture, while Ali takes 5 hours 25 minutes to complete the same
picture. The total time they take altogether is:

(a) 9 h 59 min (b) 10 h 59 min (c) 11 h 34 min (d) 20 h 59 min

Question No.20 : Identify non parallel lines:

(a) (b) (c) (d) 

Question No.21 : The angle in the given figure is:

(a) Straight angle (b) Acute angle (c) Right angle (d) Obtuse angle

Question No.22 : If the length of side of a square-shaped surface is
9 cm, then its area will be:
(a) 18 (b) 27 (c) 36 (d) 81

Question No.23 : The figure with line of symmetry is:

(a) (b) (c) (d) 

Question No.24 : The given bar graph shows the favourite colours
of the students. How many students like blue colour?

(a) 10 (b) 15 (c) 20 (d) 30
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Question No.25 : The given line graph shows the number of
students of diffrent classes.The number of students of class one is:

(a) 20 (b) 30 (c) 40 (d) 50

SUBJECTIVE PART(CRQs)

a ) Add  and . (5 marks)

b ) A factory manufactures  toys in one day. How many toys will it manufacture in  days? (5 Marks)

a ) Write all prime numbers between 55 and 75. (5 marks)

b ) Fatima wants to pack  kg of rice into 6 packets equally. How much rice will be packed in one packet? (5 marks)

a ) Round off decimal fractions   to the nearest whole number.  (5 marks)

b ) Convert 6.5 kilogram into grams. (5 Marks)

a ) Convert 5 hours 2 min into minutes. (5Marks)

b ) Write the radius, centre and diameter of the given circle. (5 marks)

a ) Write the name and the number of surfaces, vertices and edges of the given figure.(5 marks) 

b ) The usage of vegetables in resturant is shown in given pie chart .Read the chart carefully to answer the given questions.  (5 marks)
a . What is the sum of onion and potatoes mass?
b. How much is  the difference in usage between carrots and cucumber?
c. what is the usage mass of tomatoes?
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31. 25, 25. 72, 71. 90, 12. 05, 67. 32
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